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B.A./B.Sc. (General) 4th Semester
Examination

1047
PSYCHOLOGY

(In All Mediums)
Experimental Psychology

Time : 3 Hours] [Max. Marks : 70

Note :- (i) Attempt five questions in all. All questions

carry equal marks.

(ii) Attempt one question from each Unit,

(iii) Question No. 1 is compulsory,

(iv) Candidates are allowed to use statistical tables

attached and non-programmable calculators.

1. Attempt any seven of the following :

(i) Basal Ganglia

(ii) Young Helmholtz
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(liij Fovea

(iv) Motion Parallax

(v) Goodness of fit

(vi) Illumination

(vii) Span of attention

(viii) Autokinetic effect

(ix) Divergent thinking

(x) Type II error

(xi) Successive scanning

(xii) Kurtosis 7x2=14

Unit-I

2. Throw light on theories of colour vision. 14

Or

3. Explain structure and functioning of ear with the

help of diagram. 14

Unit-II

4. Define Perception. Explain Monocular and Binocular

cues of depth perception. 14

Or

5. Write short notes on :

(a) Objective factors affecting attention

(b) Characteristics of Perception 7,7
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Unit-Ill

6. Write short notes on :

(a) Stages of problem solving

(b) Types of concepts

Or
,

1. Elucidate in detail on Torrance theory of creativity.

Unit-IV

8. Explain characteristics of normal Probability curve in

detail.

Or

9. 384 school teachers were classified into six categories

of adjustment ranging from a high level of adjustment

to low level of adjustment as under :

7,7

14

14

Categoeries

No. of

school

Teachers

I

48

II

61

III

82

IV

91

V

57

VI

45

Total

384

Does this classification differ significantly from the

one exdpected if adjustment is supposed to be

distributed normally in our population of school

teachers ? 14
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(xi)

(xii)

2.

3.

4.
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(Punjabi Medium)
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